
CSO24 2

subzero.com    800.222.7820

Convection Steam Oven
Parts Manual



Page 2

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

2#821161 - Revision B - July, 2012

CSO GENERAL VIEW, PANEL PARTS LIST

Ref # Part # Description Ref # Part # Description

001 821097 Trim Kit Right Black CST-XSL-Svce  

002 821095 Trim Kit Left Black CST-XSL-Svce

004 NA

005 820778 Screw, Set ZN-PLTD Light, Svce  

006 NA

007 NA

008 NA

009 NA

010 NA

011 NA

012 NA

013 NA

014 NA

015 NA

016 NA

017 NA

018 NA

019 NA

020 NA

021 820839 Cntrl Pnl XSL WLF CS Assy-Svce 

821061 W/H Water Leakage Detector-Svce

022 820841 Cntrl Unit Combi-St XSL White-Svce

023 820855 Display Color White-Svce

024 NA

025 821029 Rubber Keypad 2 Button Gray-Svce

026 821031 Rubber Keypad 3 Button Gray-Svce

027 820989 Knob, Cpl. Grey S-Z-Wolf-Svce

028 820770 Water Valve Cpl., Svce

029 820999 O-ring, NBR 46.00 x 1.50-Svce

030 820865 Flap Actuator, Assy CST-SLX 45-Svce

031 821099 Water Tank Cpl. CST-XSL CS-Svce

032 820803 Corner Protector, Right, Svce

033 820805 Corner Protector, Left, Svce

034 NA

035 NA

036 NA

037 NA

038 NA

039 NA

040 NA

041 NA

042 NA

043 NA

044 NA

045 NA

046 NA

047 NA

048 NA

049 NA

050 NA

051 NA

052 NA

053 NA

054 NA

055 NA

056 NA

057 NA

058 NA

059 NA

060 NA

061 820891 Hexalb Pan Hd Sfl 4.2 x 9.5-Svce

062 820893 Hexalb Pan PT SCR 4.0 x 20-Svce

063 820895 Hexalb Pan PT ST 3.0 x 9-Svce

064 820899 Hexalb Pan PT ST 4.0 x 10-Svce

065 820887 Hexalb Ctsnk PT A2 4.0 x 10-Svce



Page 3

Parts Manual

3 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO GENERAL VIEW, PANEL VIEW



Page 4

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

4#821161 - Revision B - July, 2012

CSO APPLIANCE DOOR PARTS LIST

Ref # Part # Description Ref # Part # Description

001 820857 Door Assy 60-450 Handle Wolf-Svce

002 820869 Front Glass Cpl CST-XSL Wolf-Svce

003 821073 Door Handle S-Z/Wolf-Svce

004 820799 Standoff S-Z/Wolf, Svce

005 820811 C Pan Head M5 x 45, Svce

006 NA

007 820780 Gasket Base Door, Svce

008 821075 Gasket to Assemble Bottom-Svce

009 NA

010 820985 Inner Door Glass Cpl CST-XSL-Svce

011 820987 Intermediate Door Glass 60-450-Svce

012 820788 Gasket Frame Cpl. 60-450, Svce

013 NA

014 NA

015 NA

016 NA

017 NA

018 NA

019 NA

020 NA

021 NA

022 NA

023 NA

024 NA

025 NA

026 NA

027 NA

028 NA

029 NA

030 NA

031 NA

032 NA

033 NA

034 NA

035 NA

036 NA

037 NA

038 NA

039 NA

040 NA

041 NA

042 NA

043 NA

044 NA

045 NA

046 NA

047 NA

048 NA

049 NA

050 NA

051 NA

052 NA

053 NA

054 NA

055 NA

056 NA

057 NA

058 NA

059 NA

060 NA

061 820881 Hex FLH Tpg, Scr, 3.5 x 11, Blk-Svce



Page 5

Parts Manual

5 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO APPLIANCE DOOR VIEW



Page 6

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

6#821161 - Revision B - July, 2012

CSO COOKING SPACE PARTS LIST

Ref # Part # Description Ref # Part # Description

001 821011 Room Air Fan Motor 240V 60Hz-Svce

002 821093 Stepper Motor, Gear Wheel-Svce

003 820798 Slider or Valve Cpl. CS, Svce

004 821015 Retainer, Stepper Motor CST-SL-Svce

005 NA

006 NA

007 820786 Reed Switch Complete, Svce

008 821045 Temp.Sensor 100kOhm, 100°C-Svce

009 820801 Exhaust Duct, Top, Svce

010 821089 Silicon Tube Exhaust System-Svce

011 820809 Top Plate CST-XSL, Svce

012 NA

013 NA

014 NA

015 NA

016 NA

017 NA

018 NA

019 NA

020 NA

021 820796 PTC-Heater, Svce

022 820903 Heating Element Air/1900W/230V-Svce

023 NA

024 NA

025 820833 Built-In Oven Lamp Number-Svce

026 820875 Halogen Light 230V/20W G9-Svce

027 820768 Oven Light Seal, Svce

028 821017 Safety Glass Matt Oven Light-Svce

029 820871 Frame Assy Oven Light CS-S-Svce

030 820807 Muffle, Welded CST-XSL, Svce

031 821081 Air Cover Cpl. CST-XSL-Svce

032 820859 Door Gasket, Glass Door, CST45-Svce

033 820792 Shelf Guide Right CST46, Svce

(See SN Breaks)

821216 Shelf Guide R CST46, SVCE

(See SN Breaks)

034 820790 Shelf Guide Left CST46, Svce

(See SN Breaks)

821214 Shelf Guide L CST46, SVCE

(See SN Breaks)

035 820991 Knurled Nut Low Type M5-Svce

036 821021 Connection, Cpl Oven Sleeve Plt-Svce

037 821023 Connection, Cpl Oven Sleeve Pl-Svce

038 820901 Hot Air Fan CRNI D151-Svce  

039 821077 Hex Nut St/St M6 Left Thd-Svce

040 820776 Shim Rings D6/15 x 3, Svce

041 821043 Tab Washer 5/11.3 x 0.7-Svce

042 NA

043 NA

044 NA

045 821083 Inside Metal Plate, Above-Svce

046 821033 Sckt Cvr, Cpl. Probe, 500°C-Svce

047 820829 3-Pole Sckt, Food Probe-Svce

048 820782 Flange Seal Food Probe, Svce

049 820883 Hex Nut 3/8-32, 1.00 - Svce

050 NA

051 NA

052 NA

053 NA

054 NA

055 NA

056 NA

057 NA

058 NA

059 NA

060 NA

061 820891 Hexalb Pan Hd SFL 4.2 x 9.5-Svce

062 820897 Hexalb Pan PT ST 3.5 x 10-Svce

063 820885 Hex Skt Pan Tpg 4.2 x 22-Svce

064 821001 PHD Tpg A2 4.2 x 9.5-Svce

065 820889 Hexalb CSK Tpg SC 4.2 x 13-Svce

066 821071 Cap Nut, High 18/10 M4-Svce

067 821019 Serr Flg Nut M5 ZN-Pltd-Svce

068 821067 Washer, St St 5.3/15 x 1.2-Svce

070 820995 Locking Cable Clamp 16.5 x 12-Svce



Page 7

Parts Manual

7 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO COOKING SPACE VIEW



Page 8

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

8#821161 - Revision B - July, 2012

Ref # Part # Description Ref # Part # Description

001 820849 CS CST-XSLZ.846 Wolf-Svce

821009 Rbn Cbl Cpl Clamp 1.27MM-Svce  

821007 Rbn Cbl 800MM Combi-Steam-Svce

821063 Wrg Harn, Stpr Mot, Blr -Svce

821101 Wiring Harn Food Probe-Svce

821055 Wrg Harn Blr, Bot Htg Elem-Svce

821065 Wrg Har Oven Light-Svce   

821059 Wrg Harn Hot Air Htg Elem-Svce  

820877 Harn, Hot Air Fan, DR Pump-Svce

821057 Wrg Harn Cooling Fan-Svce

820835 Conn Blue/18AWG/150MM-Svce  

820837 Conn Ye/Gn/18AWG/170MM-Svce  

002 821005 Pwr Cord US 3XAWG14 2.2M-Svce 

003 NA

004 NA

005 820861 Dr Pump,Assy Steamer 240V-Svce

006 820993 Limescale Fltr Dr Pump-Svce

007 820772 Pump Housing Drain Pump, Svce

008 821013 Rtnr Drn Pump Wtr Lt Sys-Svce

009 820774 Absorber Drain Pump, Svce

010 820831 Blr Assy Combi-St(1500W), Svce 

011 820997 Lvl Meas Pin Combi-Steam-Svce

012 820784 Steam Hose, Svce

013 821047 Temp Sensor 100°C Stl Hsg-Svce

014 820873 Grom Seal Ntc D20/15 x 10-Svce

015 821053 Wtr Hose Sprt Wtr Conduit-Svce

016 820794 Steam Hose CST46, Svce

017 821049 Temp Sensor 100°C Stl Hsg- Svce

018 821085 PT Sensor Seal Combi-steam-Svce

019 821051 Thermo Ckt Brkr 265C/16A/250V-Svce

020 821079 Hot Air Motor 240V/60Hz-Svce

021 821003 Press Spring 1.25x33.5x25 CST-Svce

022 821087 Shaft Gasket Hot Air Cpl.-Svce

023 820847 Cover Plate, Electrical Conn-Svce

024 821041 Strain Rlf Cbl 8.3-9.1mm/Blk-Svce

820845 Cover PL Main Cbl US Plug-Svce

025 821025 Hose CST-45 Drn Pump-Svce 

026 821027 Hose CST-45 V Drn Pump-Svce

027 NA

028 NA

029 NA

030 NA

031 NA

032 NA

033 NA

034 NA

035 NA

036 NA

037 NA

038 NA

039 NA

040 NA

041 NA

042 NA

043 NA

044 NA

045 NA

046 NA

047 NA

048 NA

049 NA

050 NA

051 NA

052 NA

053 NA

054 NA

055 NA

056 NA

057 NA

058 NA

059 NA

060 NA

061 820891 Hexalb Pan Hd SFL 4.2 x 9.5-Svce

062 821001 PHD Tpg Scr A2 4.2 x 9.5-Svce

063 NA

064 NA

065 NA

066 NA

067 NA

068 NA

069 NA

070 NA

071 820995 Locking Cbl Clamp 16.5 x 12-Svce

072 820813 Cable Clamp 16.9, Svce

073 820815 Spacer 15.9 mm, Svce

074 NA

075 821091 Snap Holder D16/21.7 x 10.3-Svce

CSO WATER CONDUIT SYSTEM PARTS LIST



Page 9

Parts Manual

9 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO WATER CONDUIT SYSTEM VIEW



Page 10

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

10#821161 - Revision B - July, 2012

CSO EQUIPMENT PARTS LIST

Ref # Part # Description

001 820019 Rack - Steam Oven (See SN Breaks)

821218 Rack - Steam Oven (See SN Breaks)

002 820617 Perforated Stainless Steel Tray (See SN Breaks)

821212 Perforated Stainless Steel Tray (See SN Breaks)

003 NA

004 820615 Stainless Steel Tray  (See SN Breaks)

821210 Stainless Steel Tray  (See SN Breaks)

821220 Baking Tray - Black  (See SN Breaks)

821228 Baking Tray - Black  (See SN Breaks)

005 820867 Food NTC 50kOhm, Str Grip-Svce



Page 11

Parts Manual

11 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO EQUIPMENT VIEW



Page 12

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) SeriesParts Manual

12#821161 - Revision B - July, 2012

Ref # Part # Description Ref # Part # Description

CSO ACCESSORIES PARTS LIST

001 NA

002 NA

003 NA

004 NA

005 NA

006 NA

007 NA

008 NA

009 NA

010 NA

011 NA

012 NA

013 NA

014 NA

015 NA

016 NA

017 NA

018 NA

019 NA

020 NA

021 NA

022 NA

023 NA

024 NA

025 NA

026 NA

027 NA

028 NA

029 NA

004 NA

030 NA

031 NA

032 NA

033 NA

034 NA

035 NA

036 NA

037 NA

038 NA

039 820811 C Pan Head M5 x 46, Svce

040 820879 Hdl Mt Conv Set, Short Des-Svce

041 820863 Elex, Assy Intfc, GW/AI2008-Svce

042 821035 Spacer 9.5 mmx2.00 K2.0198-Svce

043 NA

821069 Rec Chip Bd Scr ST 4.5 x 16-Svce

044 820851 Des Cover Set - Bot 16MM, Svce

820853 Des Cover Set - Bot 19MM, Svce



Page 13

Parts Manual

13 #821161 - Revision B - July, 2012

Convection Steam Oven (CSO24) SeriesConvection Steam Oven (CSO24) Series

CSO ACCESSORIES VIEW


